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16=- Percentage

1. There is 500 ml of tea in a teapot.
Alex pours 250 m of the tea into a cup.

What percentage of the tea has Alex poured into the cup’?

2 Tom and Lotna sat the same test. Tom scored 70% on the test. - - |
Lorna scored 30 out of 40 marks. Who got the higher scora?
Justify your answer.

3, There is 1 litre of tea in a tgapot.
Alex pours 275 ml of the tea into a cup.

VWhat poroentage of the tea has Alex poursd intn the eup?

4. There are 55 chocolates in a tin, 20cf the chocolates are milk chocolate,

The rest are dark chocolate.
What percentage are dark chocolate?

5. Jonny eats 40% of a steak and ale pie.
Write this percentage as a fraction in its simplest form.
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. Kelly and Nasir both had maths tests last wesk.

3 1
Kelly scored E and Masir scored 3

Who got the higher pereentage score?

. Felicity goes shopping with £120 and spends £50

on brightly coloured frainers.
What percentage of her money does she spand on trainers?

. Dexter makes 20 cookies,

He eats 5 of the cookies and takes the rest ta school.
What percentage of the cookies does he take to school?

Each diagram in this question is drawn on a square grid,
50% of this diagram is shaded.

Shade 20% of each of the diagrams below.
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10. Fill the gaps.

(b) a is 20% of b bis........ % of a

11. In a quiz, Ravi answered 24 out of 40 guestions
correctly. VWhat percentage of the questions did he

answer correctly?

12.Here is a question from a survey.

[In a time machine, would you like to ga forwards or backwards in timi’a

People said ‘Forwards’, 'Baclvm;é?dé‘ or ‘Don't know'.

Resulis:

Forwards ( L A TR G

Backwafd "8 o irn L S ae%

Don't knnw ?
_ The bar for 'Don't know’ has not been drawn.

What percentage of people said ‘Don't know'?
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13. Mr Mason asks 240 Year 11 students what they want to do next ysar.

15% of the students want to go to college.

% of the students want to stay at school.

The rest of the students do not know,

Woark out the number of students who do not know.

14. Mo spends £15 on ingredients to make 40 cookies.

He sells all 40 cookies for 50p each.

Waork out Mo's percentage profit,

15, (a) Half of this square is shaded,

What percentage of the sql;_i:érizj-f 'Elisf?_sl'ﬁéu:fed?

(b) What percentage of this square is shaded?

o9

“EE Ethlnk nfa numl::=r 4%
nf my number is 42

{a} What is 40% of my number?

(b} What is my number?
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17. {a) Work out 5% of 360

.- (b) Work out 15% of 360
You can use part (a} to help you.

18. A newspaper printed this information about the world's fndpulation.

If the world was a village of 100 people,

& people would have 59% of the total * .

wealth. The other 94 people would have the

rest.’ T B e,
On average, haw many times as wealthy as one of the

other 94 people would one of these 6 people be?

19. A teacher said to a puﬁu;"

[ J'i"q';ghe.nearest per 1 is17% ]

cent, The pupil said:

- [ So, to the nearest per cent, % must be 34% J

E o

“"Show that the pupil is wrong.
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20, (a) Complete the sentences.

,,,,,,,,,,,,,,,,,, _out of 10 is the same as 70%
10 out of 20 is the same a5 Ya
(b) Complete the sentence.

............. outof ... isthe same aé;_'é% b

Now complete the sentence using diﬁe_reﬁt"ﬁIUmbErs.

21. A hotel has 56 guests. .
35 of the guests are male.
(a} Work out35 out of 56 as a percentage.

40% of the 35 male guests wear glasses.

[E} ~ Write the number of male guests who wear glasses as a fraction of the 56
guests,

Give your answer in its simplest form.
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»2_Amina buys a television for £675
She pays a 20% deposit and then the rest of the money is pau:i in
monthly payments of £45
How many monthly payments will Amina need to pay?

21 Dexter is cycling to his friend’s house.
After 1 hour and 45 minutes, he has completed 70% of his joumey. .

Assuming he continues at the same speed, what is his fotal joumey tlme‘?

/ i

24. Which is greater? Justify your answer, ) u

35% of 60 41% of 50 |-

25, (a) Write the missing numbars |

’”ﬁm%mm+
5% of 80 =

1% of 80 =

Seore AYNumbersfYeard ) oz
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26. Draw lines to match the boxes,

The first one is done for you.

To find 50% of a number ...

To find 10% of a number ...

To find 20% of a number ...

To find 5% of a number ...

To find 1% of a number ...

divide the number by 10

divide the number by 2

divide the number by 20 | . °

L8

divide the number by 100

divide the number by 5

L, .
dm S
s Pl e

27. A teacher said to a pupil:

To the nearest per cent 'é"té 1?%
-l

The pupil said: g
So, tothe nearest per cent zmust be 34%

Show that the pupli |5 wmng

28. {a) complete "i:ﬁé'%éhfénces.

out of 100 is the same as 80%

e
T T T T LTI T e R
W

5 out of 20 is the same as.__ ... o
£ :f__f ;_.-lifi'll:fini'rn';-:iete the sentence.

out of is the same as 5%

T LI LT T YT TTTTY

Now complete the sentence using different numbers,

out of is the same as 5%

PR R R AN EEEdEES AR
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29. Look at the information in the box.

[ % - EU%J

The information can help you work out other number facts,

Fill in the missing numbers below.

32 =

180 %
B -

Al %

0 = 60 - '_?I’u

30. The scale shows both percentages and decimals,

0% 20% 40% °  60% 80% 100%
I | | 20 el I | | |
I l [ L I I I |
0 02 .04 0.6 0.8 1

Fill in the mis_éing xd_ecimals in the gaps below.

The first Dné_Is done for you.
60% is the same as . &6

e '_Eﬁ%"is the sameas...............

3% isthesameas ...............

Seare AYNumbersYeard
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31. Here is some information about A levels in 2002.

E'ng.lis._h Vi 5 - :Mfat_hematics
 Numberof
L et 72000 54 000
‘Percentage gaining 0
oo grade A 19% BT

How many more students gained grade A in mathematics iha:n

in English?

32, There are 40 students in a class, ; ,
60% of the students are boys. 25% of the boys have brown hair,
How many boys have brown hair? -

boys
33, The table shr:aws'_tﬁé 'num-be-r of students
in the school football club in 2018
IE E'uys Girls |
2018.1 40 25
. In2019, the number of boys decreased by 5%and the number of
- girls increased by 20%
o How many boys and how many girls were inthe club in 20187
boys
girls ~
Score AYNumbers/Yeard 85
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3 years later, she sells it for £1400

What is the percentage loss that Rosie has

matdea?

Score AYNumbersfYeard 95
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